2t L E-CIA|ZT

D 10e€A @ 14e A ® 16¢ A

@ 18¢ A ® 20e€ A

@ n(A) = n(B)°l® A= Bolc}

® A={0}°]"H n(A) =0°]t}.

4.

o
Z 8o A

pl ]

o

AL?

ll

Rt

=

mlo

Q {AA=JAA, Aep7], sk, M,
o2} = {x | z = AAAEF}

© {1,234} = {o | s 452
U o, =]}

© {ws}, dx, =8}, i) = {z |z =
AR ol 5}

® {071 Afolo] B} = {%7 %}

4=

® {1,3,17,51 } = {z | v= 519 9}

8 {4, 2 5 B ={z|z=

AHEEO]o] 20l ot}

66,6 00,0606

ONER)
® 9,066 06606

) {1,2,8}
) {3,4,8}
) {3,5,8}
) {1,4,6,7}
) {4,5,6,8}
) {2,3,4,8}
) {2,4,7,8}
) {1,2,3,6,8}

D 2 o A L V1

(
(
(
(
(
(
(
(




9% A= {1,2,3) A, 912 A AT A | 9. The Ze G4 W] sHF]o] A Solt wE A
o) REYFY A4S Totelet. Be 3 WEA A0 MEE D)

wd AL di2] o Fels 297 Adae
@ 717h A2 sH, Heflo] Ao @ #E MY,
SHETES @ Fadrt &3, #iFAs=
@ 7171 & st o] s}712 gt} 1831, St
71e ® e AA 7F A5k = gt
A% A = {z | =10 oI8}2] 29] w5} o] s}
n(X) =492 A A o FE2HY X 9 /W4 ot D 77} e 5y @ Wz Ay
ofet.
® H5x7t 28 @ 77k 2 A

10 of5ke] 39] Bj40] AFL § ekn @ o, b F | 10. Tk wIloIH WP AL BE Beh
gut=s W Aete golel,

32 A% S9
a7t A3,

12+= A SY

o,

2)49] CES

e A S
Aok,

or A 59
227} ok,

11. 8 % A = (o] 2= 10 ol5te] B4} o FRggtol

ohd 727

ON; @ {1, 3}
® {3, 7} @ {z|re 99 ok}
® {1, 5, 6}




12. S A% A={1, 3,6}, B={z—1, x+4, 3}
tiste] A =B <4 W, z 9 32 F5hoizt

13. = A% A, B 7} oha T 22 W), n(A) +n(B) © <&
Ztoiat,

A = Az|zEt209 %%}, B =
{z | 2= 110 P]THQI 5] v}

14. & % 69 w59 o] FRTol ofd He?

® 129 W40 A @ 189) wi4o] W
® 209 W40 AE @ 249 Wi4e] WG
® 369) w40) 2

15. = A% A= {7, 3, 5}, B={3, 5, a+ 2}l ths}t]
A=BY 4, a2 g& F5toizt,




